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QUESTION 1

Which test design technique uses operational profiles and load profiles? 

A. Data Cycle Test 

B. Process Cycle Test 

C. Real-Life Test 

D. Use Case Test 

Correct Answer: C 

 

QUESTION 2

Is the checklist created to determine the test basis dependent on the selected test design technique? 

A. yes 

B. no 

Correct Answer: A 

 

QUESTION 3

Which defects can be detected more effectively with development tests than with system and/or acceptance tests? 

A. defects related toeffectivity 

B. defects related to the database and/or the operating system 

C. defects related to the functional specifications 

D. defects related to performance 

Correct Answer: B 

 

QUESTION 4

With which units do you best start the unit integration test? 

A. the units that are ready first 

B. the units that are the worst (least) documented 

C. the units in which the most problems are expected 

Correct Answer: C 
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QUESTION 5

See the illustration below: 

Which test situations can be differentiated when the coverage type paths test depth level 2 is used? 

A. 1-2; 2-3; 3-4; 2-4; 2-5; 2-6; 3-5; 3-6; 4-5; 4-6; 5-6 

B. 1-2; 1-3; 1-4; 2-5; 3-5; 4-5; 2-6; 3-6; 4-6 

C. 1-2-5; 1-2-6; 1-3-6; 1-3-5; 1-4-6; 1-4-5 

Correct Answer: B 
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